

DCV NETWORK HELPING PLAN

Indias Best Helping Base Crowdfunding Program



START NOW

Powered By

DCV NETWORK PVT. LTD.















About Us

Our System helps businesses succeed by providing them with innovative and effective solutions We want to make a positive impact on the world of business.

WWW.













Vision

Mission

Swift Help is a nonprofit community organization dedicated to helping those in need through compassion, collaboration, and action.

From food distribution and education to mental health support and shelter assistance, our mission is to uplift lives and build resilient communities.

We envision a world where every individual has access to basic needs, support, and opportunities to thrive. Swift Help aims to bridge the gap between challenges and solutions by creating a network of care and hope.





Legal Documents





- 1. Registered by ROC, Govt. of India
- 2. Certified by TAN Number
- 3. Registered by Income Tax Department, Govt. of India





Project Overview

In donation and helping systems, people help each other to meet everyone's dreams. Everyone will get the benefits, and thereby help each other. Giving and Receiving are the two concepts of gifting plan. In an efficient gifting plan software, these terms can be changed to Provide help and Accept help, or Give help and receive help. The donation plan providers use different namings based on their business strategies.





WWW.









Problem

Gifting, Donations, and Crowdfunding are familiar words now.



Here, everyone is getting opportunities to become entrepreneurs, no need to worry when you lack money.





DCV NETWORK HELP Our Works D&f @



JOINING FEE RS. 500/-







The works we have done for the past 5 years.

WWW.



DCV NETWORK HELP Our Packages



RANK	PACKAGE	
Advisor	500	
Senior Advisor	1000	
Chief Advisor	2000	
Sales Manager	4000	
Senior S.Manager	8000	
Chief S.Manager	16000	
Regional Manager	32000	
Chief R. Manager	64000	

Condition for Upgrade





Give help one time and Received help Many times.



DCV NETWORK HELP Active Help (Working Strategy)



S. R	RANK	HELP	EX.TEAM	INCOME
1	Advisor	500	5	2500
2	Senior Advisor	1000	25	25000
3	Chief Advisor	2000	125	250000
4	Sales Manager	4000	625	2500000
5	Senior S. Manager	8000	3125	25000000
6	Chief S.Manager	16000	15625	250000000
7	Regional Manager	32000	78125	2500000000
8	Chief R. Manager	64000	390625	25000000000
EX. TOTAL INCOME		27777777500		

ADVANTAGE

100% Secure

100% Verified

100% Distribution

100% Transparent

Real Helping Plan







KEY FEATURES

- 100% Direct Sponsor Income
- 100 %Level Upgrade Income
- 100 %Transparent And Verified
- Your Income In INR Not In Crypto
- No Income Holding on your ID
- Auto upgradation system

ADVANTAGES

- No Risk No MLM No Liability
- No Investment Plan
- No Product Buy & Sell
- No PV and No BV
- No Leg maintenance
- No Closing and No Capping
- No Withdrawal Charges

100 दिन की मेहनत और सावधानी, बनेगी सफलता की कहानी |





DCV NETWORK PVT. LTD

